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., An essential feature of Federal System is

4’ Ocean : Water : : Glacier : ?
(A) Mountain (B) Cave
_ Snov (D) Desert

f'f '(A) Bharat Interface for Money

. , Maharana Pratap fought against Mughals
¢ in the historical battle of

4 the very low temperatures required for

3/2018 (4)

Earliest evidence of garlic cloves in South
Asia was found here which dates to the
Mature Harappan Period.

(A) Babarkot (B) Bhirrana

(D) Farmana

In the context of online transaction, BHIM
refers to

IR 5.
-

(B) Bharat Immediate Money Transfer
(C) Bharat Interface for Mobile Money

(D) Bharat Internet for Money

(A) Chittorgarh
(C) Mewar

(D) Lahore

Decimal equivalent of binary number
10100101 is

(A) 128
(C) 156

/[ (B) 1657
(D) 135

(A) Separtlon of Powers

(C) Centré{llsatton of Powers
(D) Autonomy to States

is used in cryoscopy to obtain

superconductivity.
(A) Argon
(C) Krypton

(B) Neon

Complete the analogy.

Recently India’s first 3D Planetarium was
mtauguraled in which of the following
cities ?

(C) Tara Mandir, Porbandar
(D) None of these
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A 9. /Kalka—Shimla railway, one of the world
.\ / heritage sites was built in the year

. (A) 1989 (B) 1908
\ [C)189F (D) 1888

10. Operator used for dereferencing is

(C) - (D) >>

./ In how many ways automobile license
» / plates can be made if each plate contains
W41 1.4wo different digits followed by 3 different
—~—digits ?

(A) 468000
(C) 260

The first Buddhist Council which was held

at Ra ]JJagraha in 487 B.C. It was presided
over - — - e

(D) Mahasamghikas
13. Which of the following districts of Haryana
4 shares its boundary with 2 States ?

(A) Yam ir) (B) Rewari
(D) Charkhi Dadri

(C) Mahendragarh

. 14/ The total number of terms in the expansion
W/ of (x+a)® - (x—a)® after simplification is
(A) 102 (B) 25

26 (D) None of these
by 117

R (A 7
%, ©) 8

16. Which of the following is not a paragraph
formatting ?

(A) Alignment
(B) Indentation
{C) Lme spacmg

-3-

—-_
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17. Forgery is defined in IPC under

(A) Section 468
(C) Section 465

(D) Sect:on 467

18. If ‘CENTRE’ can be written as ‘CNRCNR’

how ‘HAPPY' can be written in that
code ? ;

(A) YHPYA
(C) AHPYA

(D) HPYAP
synthesis consists of heating
primary amine and aldehyde with sulphuric
acid to give quinolines.

(A) Skraup

19.

(C) Duff
(D) Knorr quinoline

20.

Fatehabad district derives its name from the

eponymous headquarters town founded by
in the 14" century who named it

after his son Fateh Khan.

(A) Ghiyasuddin Tughlak

(B) Allauddin Kh||||

(D) None of the above

Which of the following is not a geographical
feature of Haryana ?

(A) Lower Shivalik Hills

(B) Bagar Tract

(C) Yamuna Ghaggar Plain

22. Capital of Syria is
(A) Mousel &, (B) Kabul

(D) Tel Aviv

ritten by

B) Urjit Patl
(C) Aravlnd Subramanlan

-,,_1 =’ ?_
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24. , The layerofthe atmosphere where electrical
4 conductivity takes place
(A) Stratosphere "(B) Troposphere
_ sphere (D) Mesosphere

type is best suited to
represent logical values.

(A) Enum - (B) Cha
(C) Double 0|

26. Let a, b, c, d, e be the observations with
the mean m and standard deviation s. The
standard deviation of the observations kx.,
Kk, KX, KX, KX IS ;
(A) k

TR
3 1,51

+s (B) slk

(D) s

27. What is the sum of the coefficients in the
sign of (3 + 2x)* ?
99 (B) 3%
(D) 6"

was established by Babar as
memorial to the victory over the throne of
Hindustan when he defeated Ibrahim Lodi
| . in1526.
- ¢’ (A) Shah Qalandar Mosque
(B) Kabuli Bagh
C) Red Fort
(D) Peacock Throne

Value of JS—_’—_J \/300 :

4 (A) Oor3 '
_ _ 1

3—

(C) 3

Haryana contains 2 National Parks. One of

them is Sultanpur National Park. The other

/Yy 1

(D) None of these

30.

31.

Which of the following function keys is used
as a toggle key for changing referencing
modes ?

(A) F2

©) Fé

(B) F8
(D) F6
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The law declared by the Supreme Court is
binding on all courts within the country. The
Article deals with this is

(A) 214

(B) 226
(D) 324

Which of the following rivers does not have
their origin in Aravali hills ?
(B) Berach river

(A) Sahibi river
(C) Dohan river

Compton Shift depends on which of the
following ?

(A) Incident radiation

(B) Nature ofscatterlng substance

(D) Amplitude of frequency

The district of Haryana was carved out from
Karnal district on 1 November 1989. On
24 July 1991, itwas again merged with Karnal
district. On 1 January 1992, it again became a
separate district. Which is the district ?
(A) Hohtak

(B) Hisar
(D) Kurukshetra

Ranikhet is a

(A) Viral disease 7
(B) Nematode disease
(C) Protozoan disease
(D) Fungal disease

Which is the primary nutrient element ?
(B) Cobalt -

(A) Sulphur
(C) Sodium

The Great Barrier Reef is located in
\(istralia (B) England
(D) New Zealand

(C) | Saudn Arabla

HCV stands for
(A) Heavy Cash Vehlcle

(C) Hand Commerclal Veh1cle
(D) Heavy Consolidated Vehicle
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(A) 214 (B) 226

(C) 141 324
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When Haryana was formed in 1966,
was declared as the second state language
s by Bansilal Govt.
(A) Punjabi
(C) Haryanvi

(B) Hindi

i 1 b
._1'5,’: br =t | 8

For real x, if cos8=Xx +%, then

(A) @isan acute angle
(B) 6isrightangle

, Chandigarh declared as the

42. Inyear
; first smoke free city of India.
" (A) 2002 (B) 2004
/ (D) 2018

What is related to ‘frog’ in the same way as
‘snake’ is related to ‘frog’ ?

(A) Fly/ (B) Python

(C) Tadpole (D) Worm

Desynapsis or unpairing of homologous
chromosomes is started in
stage.

(A) Diakinesis

(B) Anaphase

, (D) Zygotene
Muhammad of Ghori defeated Prithviraj
Chauhan in which of the following place§ ?
(A) Kurukshetra
(C) Rohtak

The statement T&&T

(B) False

(C) Neutral (D) None

7.

Executive Head of the State'is
(A) Chief Minister  (B) Governor
(C) President (D) Prime Minister

[ &4
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_ 48. Whichisthe smallest positive integern, for | - 48, Fd Trel AT quifeh n -4 @ foreh
&/ which(1+i=(1-0)*7? fem (1 + 1= (1 —ipn e ?

(A) 1 (B 4 APy 1 (8 2

S — D) 0, ©) 2 WO

49. Which one of the following is correctly . e § & wH -1 e gAfed 8 7

matched '?
r } " -' "';'

Tees 214 - — 3= TATer Al T

W BIERIC
esiabhshment of High Court &
(B) Article 227 — Every High Courtis . (B) ITgEE 227 — JoHh I=d I
Court of Record sifrerg o =TI
(C) Article 76 — Supreme Court has aqg’%a' Fat=a A & U™
Original Jurisdiction (©) E[Tf‘ Hhai= |
(D) Article 131 — Office of Accountant qepT
General ol 3:13-—593 131 — FETCRETEHR H FH T
Find the missing |etters that will complete |  50. 9 qui f s e A& 3rd cadl
l 4/'the series Imnnmimxng/. / ;ﬂl ﬁg milmmany. -
(A) mnmn (B) mnnm- (A) | /(,Bj/mnnm
| (C) mnmm (D) nmmn (C) mnmm ' (D) nmmn
. Existence of mango groves attestsitsname |  51. ¥ 3 gqadi o1 aTfEae freftea o 4 foe
y to which of the followmg mty"? TR 3 T AT A St 27
'_ (A) Bangalore (B) Ambala (A) TR By e
(C) Amarnath (D) . Chennai (C) T (D) IS v
How many integers between 1 and 566 are /9 1 3 566 & = 3 AT 5 ERETERIET .
dIVISIbIe by either 30r5? - TR 7 47 149 K
\ ! ' l
©) 262 (D) 254 ©) 262 (D) 254 M- 3
. - The quality factor (Q), resonant frequency @ 313,71'13"( aftay & o R (Q),
(f,) and bandwidth (f,~f,) of series resonant a:gmﬁf At (f) 3 e ST (f -1)
circuit are related by the equat;on __ gHeR g™ Hafﬁ?{
f
(A) Q=ff,-f) (B) Q= -—f—‘ (A) Q=fyf,—f,)
0
1 1
(D) Qf, = ©) f,=Qf,-f) () Qfy=—r
0 (fz"f1) 0 2 1 - (fz-—f1)
Y| 54. The Indian Government set up Commission | 54. ¥R TR 423310, 1966
under the Chairmanship of on 23 awmﬁmwm%ﬁw 3R
April, 1966 to divide the existing ‘State of - g efamn = e Ratfa AT
Punjab and determine the boundaries of AT | Ehﬁ%g
the new State of Haryana
Nj G ”-I':.*" an /(’(w %--Eﬁ- NI
| (B) Justlce M Katju (B) =ITH{d TH. FeS
'| (C) Justice Deepak Mishra ' (©) =i ek fivsn
. (D) Justice Ranjan Gogoil (D) w T T

i

|
l._



[

55. Choose the word wh_ich is least like the
other words in the group.

(B) Aswan

" (A) Mettur
(C) Hirakud

Which one of the following statement is

incorrect about ‘Harshacharitha' of

Banabhatta ?

(A) Its first chapter is devoted to the life
and family of the author himself

B)w Thesfiftichapter deals with the
ancestors of Harshavardhana

(C) The sixth and seventh chapters
deals with wars and conquests of
Harshavardhana

(D) The last chapter gives a description of
the various religious sects living in the

forests of Vindhyas

57.

if 355 =7/ =5% theny +2=

(A) 35 -
i}

© 3

Chairman of NITI Ayog is

(A) Finance Minister (B) President

mmmJ (D) Home Minister

A vertical spring is stretched by 3 cm when
a load of 3 kg is attached to it. What will be
g the period of oscillation of spring when a
load of 2.45 kg is attached to |t ?

(A) 0.415s 0.315
(C) 0.215s

(D) None of these

.‘-; l-ﬂ\
-:..L'c-“f, i

(D) 0 1159. |

is considered as the first
crttical _manlfesto of Urdu poetry

(B) Yaadgar-e-Ghallb

(C) Hayat-e-Saadi

(D) Woh Nabiyon Mein Rahmat Laqab
Paanaywala

The value of sin50° is
sin130°

» -1 ~

61.

©)
| (D) Not defined

@5.

@

C;
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a8 YIe8 gie S wE H 3 vl d Hel
e ® |
(A) " (B) ATHAM

(C) TRIFS BV wagS

SToE ¥ ‘geEiE % wEy ¥ Freafafaa d @
F7 -1 FHIF A &

)Aafszm YuH AT AGH & A 3R

qftaw i Tafid

(B) = eI gHaE & a9
gafed 8

() @31 3R Hrers STEAT FHEEH el 3T
forerit & Gaifed @

(D) ifam ayeam fer F wel # @ A
fyfirt enfifer Twerl =1 forewor a1 2

57. qﬁ35x=7%=5}é,fﬁy+2=

(A) 35 By x
(C) (D) T & IS A&

Ay I * 1eay R
(A) feramsf (B) Tt
Ay et (D) TEH
3 f36.777. &1 9N TeEHH T T IeFier B
3@, 4. fig=dt & | 51 2.45 foh. 71, 1 T 9R
f&m @ e e, ?raﬁﬁné;a‘ra:raﬁr
arafy = gt ? % ;
(A) 0.415s ~= 0.315 s
(C) 0.216s ¢ (D) 0.115s
i3 A % GHIEN S IE
thwrrqanmm%l
(A) THER-T-T-mad
(B) ITETR-T-Tferal
_ oy Tma-u-ard
(D) &t AfS ® TEHd Tkl qHEETet
sin50°
sin130°
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62.

/105 53 27

In 18" Asian Games, 2018, Haryana

" topped the chart among Indian States with

18 medals. These games were held In

(A) Malaysla (B) Delhi

“(C) Indonesia’ (D) China

Hormone responsible for milk let down is
(B) ACH

(C) -LH (D) None of these

If two events are independent, then
(A) They must be mutually exclusive
(B) The sum of their probabilities must be
equal to 1
(C) (A) \) and (B) are correct
))iiNone of the’above is correct

As of now, number of national highways in
the State of Haryana are

Complete the series starting with the
given number, following the sequence
of original series. What will come in the
splace of (iii) ?

14 75 425
85 (i) (i) (i) (iv) (V)
(A) 9.5 ) 118
©€) 9

(D) 11
orHTTPis the most popular
protocol to connect web applications.

(/ .,'1"35"-'-'.'{“‘% :Tﬁ?-.-;qmyﬂdwrlh col”
(B) Higher Text Transfer Protocol
(C) Higher Transfer of Text Protocol
(D) Highest Text Transfer Protocol

The Arts and Cultural Heritage Trust
(TAACHT) has set up the world's first
Partition Museum at Town Hall, Amritsar,
Punjab India. Chalrman of this Trust is

(B) PrestiSingh
(C) Sunita Jain
(D) None of the above

62. 1873 ufirar @, 2018 ¥ gR@mN 7 18 USHI
F H1Y AR T o = § i T g
fr 1 Aga wEI g ?

(A) weIfETE (B) feeett
: (D) =™

@3/ 34 & ferer % forg Ieerh i @
Ay AR (B) ACH
(C) LH (D) =8 & =IE T
@ aft @) et = F,
} qrER 3 Bl v
(B) Y WiRrarertait <A1 ANT 1 3 U= BT

_tb(m%;ﬁ el
(A) 3T (B)
(D)) 3 8 3 é et 7T &

. aﬁmﬁ Eﬂmvntmﬁu@umnﬁ‘cﬁ
' (A) . (@ 29

32 (D) 36
66. W T 1 FTEW FA §Y A TS T H
mwm@fﬁl(uu)%wmw
I 7
105 53 27 14 75 4.25
85 My Za) i) v
(A) 9.5 _(By 115
€ 9 (D) 11

67. I HTTP 3 I el
%i%rqaaﬁ‘wﬁmﬁwﬁzﬁm%l

(C) T g Ah 2 ST
(D) TR IR TiEH Warehiat

(68, et 3R iwHiie: FRrd = (TAACHT)
ﬁaa%ﬁéﬁwmm Y T, A

zm,awqw USTE, WA § 6 |sa:n"er$
mwaa

(0) W%ﬂ
(D) I H & i e

-10-
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_ 69.

70.

‘..'"'
/ % (C) Chandigarh

. _Select the odd numerical pair.
(B) (56 63)

4 (A (16,18)

73.

AR N

Har'yana’s first armed forces’ preparatory
institute will be set up in
(A) Panipat

(D) Hisar

In most of the breeding programmes, the
4, main aim is to develop varieties with which
of the following features ?

(A) Dormancy

(C) Improved quahty
(D) Change in maturity date

(C) (96, 108)

Montesquieu wrote “constant experience
shows us that every man invested with
power is apt to abuse it, and to carry his
authority until he is confronted with limits.”
This is taken from the book

(A) Social Contract

(B) Leviathan

(C) The Hepubl1c

algonthms compresses
video data 1o reduce number of bytes
that can be easily transmitted and then
decompressed -
(A) VolP

(C) ETHERNET

(D) LAN

What s the genotype of human blood group

(B) i
(D) i

©) P

Number of cities included under Smart
Cities Misslon Is

3/2018 (4)
@ fearoT St Teeh I T QAT T
(A) NG

ﬁl‘-mﬁﬁﬁwﬂl
X (C) =eTe %uﬂ

@ SfreRTeT oA s |, G TEd
Srfraa § & f ferdrraned 6 fome

Pt wT e !

(A) =l
I=a IS AT

s

ﬁmmgmgﬁm aq
(A) (16 18) (B) (56,83)
© 6108 _IPr(E5,9,
Tiewr 3 foan ‘Rt 39 & aild ©
mﬁmmaﬁ%mmﬁmm
%aﬁﬁwmwﬁww%mﬁ
Wl e, T T}
Ffmmn g |

(A) TS FHiee

(B) TETELH -

(€) = frafecte

/(,Bj’af@ﬁzmm

weriteem Rt srwe! #
aﬁ{aﬁﬁ@mwﬁ%mqﬁ%ﬁméﬂ
% aifth Tr e & S 8w TR R
FrEffEq A |

_4B] MREG

(A) VolP
(C) ETHERNET (D) LAN

74. m’q“rmaﬁ AB F1 SHRET F1 2 ?

<
@

~

73.

(A) ©9 (8) 100

(D) None of these

“11-

A8 (B) i
(C) IA (D) PBi
75. wﬁﬁﬁrﬁmﬁwﬁamﬁﬂﬁw%
(A) 99 100
(C) 199 (D) T & = T



S QT
76. is considered as Haryana's first (@ o) wfegmn & ggen gfl w4
ever Sufi poet T S @ | '
(B) Shah Gulam Jiani (8) e e farerr
(C) Shah Muhammad Ramzan Shaheed (C) e qewHe TSI VAL
(D) None of the above )DVW o A FIE T80
77.  Who was the first woman judge of Supreme @ urd % galwd A ) TEd] giEd
Court of India ? AENEfiE] A ol 7
(B) Rama Paul X 4By T 9T
(C) Sujata Manohar (C) geirdi T
(D) None of the above | (D) T H & HIE T
78. Recently, which of the following States @ 7 € #, frefafea § | a7 3 ﬁm
PI'?St withdrawn :he;mgegeratﬂ' tlzfénsenl ; T Tl Hﬁlﬁ fopm T St 3 ATaEA
at was given to the Central Bureau 0 FO F fore F = (<t sft.3ms. ) =
- Investigation (CBI) to carry out search P
and operations in the Stagz without \/ g T HEH(d AT ?ﬁ% !
informing the Government ? (A) FAIH (B) T

(A) Karnataka (B) Punjab - sered
(C) Delhi -‘- .-.—"’.{-_'i'll;',:.;.i.}-.:"—'..:-:' ades (C) JBT
79. What is the circum radius (in cm) of an | 79. mﬁf g i uftfsen (|41 9) =0
equilateral triangle whose side is 9 cm ? ST 9 af. g ?
. 0 3.3 33
’ w (B) _;"_' ' 4K 33 B -
33 33
© 3 (D) —}:—- © V3 -y (D) TJ_
Chogse the missing number in the series 80. w2, 36, 15 42 ? 1 g &

2'3’6'15/42, 7 TR |

(A) 84 " gNB)T237 : (A) 84 123
(C) 94 (D) 60 (C) 94 /g/ 60

According to Haryanvi folklore, Guggapir is FEE iwaTeT F AR, TR Y

believed to be the protector of N o1 T&Teh HTHT ST © |
(A) Human B) Birds (A) HHg gsfi
(C) Cows h XQ ™ );)/mf
GPRS is used in mobile phones for 82. WETSd WA § Al smuwm, 00 E
(A) Sending SMS T g e @
(B) Data communication (A) TH.UH.TH. S
_ABJ €T Tl

(C) &f wiww

(D) ¥ H & g T

(D) None of the above
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. This .
T ettt | g, g g e
| Shravana. month of aren wven
| (A) Gugga navami (A) T e
31 (8) Sanjhi (B) @M
VvV ICITSE it
(D) Govardhan Pooja (D) Tradda gei
84. Which of the following is false for Watson | ¢  ga.) A, 3 atema S B e o
and Crick model of DNA ? SreAfrfaa # & -3 SHA 27
(A) The helix has deep, wide major groove M Freeft § TR, 2 72 @i i e
and shallow narrow minor groove wfiol o1 @
(B) The two strands run antiparallely 58T 3 dig SRR T ©
(C) A complete turn ocours in every 34A° (C) T 34A° T TH i A W\%
(D) Adening"eanmbinds to thymine by D) 3 31‘5@517{ it % Tl AW bl
3 hydrogen bonds and guanine can Qﬁﬁﬂ wTfesd & Teha & 3 2 TSHISA
binds to cytosine by 2 hydrogen el 35 g1 ETERT 35 e T o
bonds - B Tl &
85. Whichofthe followingis nota standardisation (’BB. Prefrfiaa 1 @ S —E gea Seifen & &3
organisations in the field of Information | ﬁ@qﬂﬁ%@@m TEie?
9
Technoiogy. | g e (A) 1SO ISI
(A) 1SO (B) ISl
| % (C) IEEE,. (D) ANSI _ \}Qf]EEE (D) ANSI
86. Recently referendum on legalise abortion a1 21 3 Ay miurg w frefafaa | e <
was held in which of the following # TG T g 7
countries ?
' (A) Spain (B) ltaly X (A) & 8w
* (C) Finland (D) “Ireland (C) frrets
g7. s ;traditional Punjabi oral story- @ Teh TR qeirel HiEs
telling that came to South Asia with migrants W-a“ﬁ.%, S aféro oftmn |§ oRe TR
from the Arabian peninsula. | 3 yaierl g ST |
(A) Rasalila (B) Katak (A) TrEeren (B) FeH
i (C) Gugga (D) Kissé (C) T ) Terem
? 88. If A and B are symmetric matrices, then @ Ife A 3i B wmfir ST R, @ AB-BAR
1 AB-BAis AR
' (A) Null matrix (B) Wi AR
i trix e
; -:'.’Z!_ -'-'3" [.‘- ¢ matrl) (©) , - STE
(D) None of these (D) T 8 A1 T

13-
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English Language

Fill in the blank with appropriate preposition
selecting from the given options :

Indulgence
of the roads to ruin.

BT to
(D) with

The Motor Vessel Victoria is bound
Naples.

(B) by

(D) through

Select the correct expression and fill in the
blanks : _

r@ The plaintiff was

‘ '(B) pu on
(C) putin
(D) put up with
He has

deal.

(A) knocked down

. _(By"knocked up
. (C) knocked in
) ADY kR SOit

Identify the figure of speech in the following
sentence :
“Milton | thou should’st be living at this
hour.”
W/ (A Simile

b N _,LBT Oxymoron

| Euphem:m
“The child is the father of the man.”

(A) Antithesis _(BY Hyperbole
(C) Metaphore

drink is one

‘when the

the world a great

00 0 O

e wren
@ ‘ﬁaﬁﬁauﬁmﬁ% T4 T o AT

(A) ﬁaﬁﬁaaﬁwrﬁ%: )

o i
"‘_ \pcder b

(D) #is=d ﬁ?&aﬁa@ﬁ |

# awr = ‘geEw’’ 98 I G GHE

(B) T A U & ey ol & wE
(C) T a1 Uk W 3Hfueh eafy wygl i
(D) ﬁﬁaﬁ’fﬁwsﬁéaﬁ

(D) T 3 T gt o |
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10.

16.

17.

18.

18.

20.

15.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, wear ornaments like ring, chain,
earring etc. electronic or communication device, Pe_n. Pencil,
Eraser, Sharpener and Correcting Fluid in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Candidate
found possessing mobile phone or any other aiding material
as mentioned above in the examination room will be treated
a serious violation and it will amount to cancellation of the
candidature and debarring him/her from future examination.

. The written examination will be supervised by doing frisking

before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing the
Biometric thumb impression and photograph of the candidates
during Examination. Videography and Jammers etc. shall be used
in the Examination Hall/Examination Centre to stop copying and
impersonation etc.

. Candidate's request to change the examination centre and seat -

in the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his’her Admit

Card or attendance sheet will be tallied with the candidate
appearing in the examination by the invigilator. Inthe eventof any
discrepancy in the identification and verification of the candidate
and photographs, the candidate shall not be allowed to sit in the
examination and be liable for criminal prosecution.

14. The OMR answer sheet consists of three copies, the original

copy, the commission copy and the candidate's copy. Do
not separate or displace them. Do not darken the bubbles in
three copies of OMR Answer sheets separately. Candidate
must handover the OMR Answer sheet without separating
the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate's copy after separating
it. The candidates are allowed to take away this Test Booklet
with them.

Each question has four alternative answer of which only ong is
correct. For each question, darken only one circle, which ever
youthink is the correct answer on the OMR answer sheet with
only Blue/Black:Ball Pen provided by the Commissiop.
Pencil should not be used for darkening the circle. If mofe
than one circle is found darkened, that answer will not be
evaluated.
No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. ]

No candidate will be allowed to leave the OMR Answer sheet blan
If any OMR Answer sheet is found blank, it shall be crossed by the
invigilator with his/her signature and mentioning “Cancelled” onit.

The answer sheet will be evaluated through electronic scanning
process, Incomplete or Incorrect entries may render the answer
sheet invalid.

Carefully fill in all the necessary particulars on the answer sheet.
Change of answer sheet is not permilted.

.

While darkening the appropriate bubble(s) in the boxes darken
the chosen bubble(s) fully as given below. It you darken mare
than one circle, your answer will be treated as wrong and such

‘answer shall not be evaluated,

10.

11.

12,

13.

14.

15.

16.

17.

18.

20.

0
Q

e — e L
o), Fee, TR A gan w0, T, I, on, i sh
Feran g firer 3 o rcen e wttam % H 5 @ W 3R 3 i oty
A=, W TE o yartin a1 fire oft En R S e | g gt
%mﬁﬁmtﬁa\ﬂnﬁa&wﬂm-ﬁmﬁmaﬁf{%mm_lwmmg
%ﬁmﬁmﬁawnﬂ%muﬁﬁms?mmgmﬂ?magm
e S e T &, wr sl & o g8 fr @ TR 3EerE we
mﬁﬁmﬁzﬁmwﬁ%ﬁmmﬂmﬁamuﬁwnaﬂ
T3 aeh wheadi  Iufim g o o s T fem S |
Forfiea e 3 e § - 3 w9 | e qemHh F sifafer,
CCTV &ma, s 97 & oty ¥ Frem s ufeufer s, et
wien, dfsammdt i S = A o e B i T T
m%ﬂ@amﬁ%mmﬁwwﬂaﬂw%uél

i« 1 qiadh 1 when-ete 8 e % afeda % dEy 7 f o
apvaeff 2 s e fereme el fom s | ' _
e g SR SufR e i el % ek g g
1 firem spemefi & fem o | spanef 3R 9ok B % WeaTd 3R
qear & Frefl ot werr ) ferimf are s wx anaefl @ whan 7 w4
1 srgata 7@ A st it 7w st s e g o

77 OMR 3a-93% # o uferaf &, et wfa, s wft o st

wfa | 4 e arem 3 3 | OMR Iet-wr 1 i wherdt # wivett 1
AT~ 37T e 7 F | 7veefi gher e § W OMR IH-95F i
it wferdt 1 avem R forr e ofefhers 1 @ 3 1 sraneff gfa
a1 aftefiers TR1 ST F06 376 & &1 ST | ST ST Ty 3 dten
of R I S g © | ' ’

Ve WeA o IR Ahfoaek I fRu e # fomd @ et v wdl @ 1 9w
T F I H 0 OMR ITR-75 1 Hael 39 OF Ml H H Y W18
o =0 ot I AnEd 2 | T SITOERT T TRT IUETE S T 8
Fare A a1 HT afer - R e 1 e e R it
e e e R 3f el 3 36 v 2 v = e e Tren R v um
e A T PR s | - '
i % wum st sifom v firme ¥ A Rt o sl 2 e
(ke /ateren) H s ) srufa 7 < smoft )

foredt oft anamefi 1 OMR 3T -1 wreht gred it TEi 213l
FE OMR I-97% @reil urd 78 a1 uftdiers 36w wm’ S0 %
YT, AT FEa = ST sl sa w e R

-7 ) W9 e SR dwem & el | s @ e
W T T - N R WA R |

. W T e eEvEiEE T e | I &

wEera A s T R ,

e o w) T /T BT e e g & e e /e @
afg a9 v @ sy Tl F wen v § 91 S9E I A T 96
s 3R ¥R I S e w9 e |

CORRECT METHOD/E#! wfidT

WRONG METHODS/ &1 &t

@900

A®OO0 GHOO0 G®®O0 A®OO

21.

If a candidate does not comply with the instructions as mentionad
above or creates any kind of indiscipline, the Commission shall
take action as per instructions and in addition can also dabar
the candidate from appearing in the Examination, to be held in
future and can also file criminal proceedings.

21.
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